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1. Introduction
This paper shows our additional simulation results for HSDPA performance requirement.

2. Simulation results

Simulations are based on the assumption, which is TR 25.890v0.0.3. Simulation results for fixed reference channel set 2 (3.6Mbps) are presented in this document.

Figure.1 to 10 show our simulation results. Figure 1 and 2 are the simulation results in the AWGN condition, Figure3 and 4 are in Pedestrian A with 3km/h (PA3), Figure 5 and 6 are in Pedestrian B with 3km/h(PB3), Figure 7 and 8 are in Vehicular A with 30km/h (VA30), and Figure 9 and 10 are in Vehicular A with 120km/h (VA120), respectively.
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Figure.1 T-put performance (AWGN, QPSK)               Figure.2 T-put performance (AWGN, 16QAM)
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Figure.3 T-put performance (PA3, QPSK)                     Figure.4 T-put performance (PA3, 16QAM)
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Figure.5 T-put performance (PB3, QPSK)                       Figure.6 T-put performance (PB3, 16QAM)
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Figure.7 T-put performance (VA30, QPSK)                Figure.8 T-put performance (VA30, 16QAM)
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Figure.9 T-put performance (VA120, QPSK)             Figure.10 T-put performance (VA120, 16QAM)

3. Conclusion

This paper shows our simulation results for fixed reference channel performance on HSDPA. These results can be used to decide performance requirement in TS25.101 when reviewed with results from other companies. 
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